Rev. 01 1011528 EN

Operating instructions and Spare parts list

Gun control unit
OptiStar 4.0 (CG20/-C)

Translation of the original operating instructions

Gema



Gema e 01 031

OptiStar CG20(-C) gun control unit

OptiStar CG20 gun control unit — complete, without item 4 1015 201
OptiStar CG20-C gun control unit — complete, without item 4 1015 202
Front plate — complete, see corresponding spare parts list

Enclosure

Backplate — complete, see corresponding spare parts list

AIWIN| =

Cover 1015 249

fig. 22

64 e Spare parts list OptiStar 4.0 (CG20/-C)



Rev. 01 03/19 rGema

Front plate and power pack

Front plate — complete (pos. 1-12) 1015 219
Front plate with foil keyboard (pos. 5-8) 1015 218
1 OptiStar Mainboard — complete 1015 221
2 Spacer sleeve — @ 3.1/6x15 mm
3 PCB "Powerboard" — complete 1015 223
4 Spacer sleeve — @ 3.2/6x7 mm
5 Front frame — complete (incl. pos. 5.1) 1015 232
5.1 Screw 1007 019
6 Screw — M4x16 mm 1013 925
7 Front plate gasket 1015 236
8 Membrane keypad with carrier plate 1015 217
9 Spacer sleeve — @ 3.6/7x5 mm
10 Display 1015 220
11 Washer — & 3.2/7x0.5 mm
12 Locknut — M3
13 Power pack — 24 VDC 1009 849
Fig. 23

OptiStar 4.0 (CG20/-C) Spare parts list e 65



rGema Rev. 01 03/19

Inside back plate

1 Back plate gasket 1015 198
2 CAN bus module — complete 1015 234
3 Elbow plug-in connection — & 8-& 8 mm 230 995

4 Solenoid valve — @ 8-3 8 mm, 24 VDC 1003 914
5 O-ring — @ 12x1.5 mm, NBR70 261416

6 Motor throttle — complete 1000 064
7 O-ring — @ 8x4 mm, NBR70 1001 521
8 Fluidizing pad — 1/8" 237 264

9 Screw — M4x16 mm 1013 925
10 Plastic tube — & 8/6 mm 103 152*

* Please indicate length

66 e Spare parts list OptiStar 4.0 (CG20/-C)



Rev. 01 03/19 rGema

Inside back plate

Fig. 24: OptiStar CG20-C

OptiStar 4.0 (CG20/-C) Spare parts list o 67



rGema Rev. 01 03/19

Connecting material

1 Quick release connection — NW5, @ 6 mm 200 840
1.1 Hose — @ 6/4 mm 103 144~
2 Nut with kink protection — M12x1 mm, @ 8 mm 201 316
21 Supplementary air hose — & 8/6 mm (black) 103 756*
2.2 Quick release coupling for supplementary air hose — NW5-& 8 mm 261 637
3 Nut with kink protection — M12x1 mm, @ 8 mm 201 316
3.1 Conveying air hose — & 8/6 mm (red) 103 500*
3.2 Quick release coupling for conveying air hose — NW5-@ 8 mm 261 645
4 Quick release connection — NW5-& 8 mm 203 181
4.1 Hose — & 8/6 mm 103 756*
6 CAN bus cable — 0.5 m 1002 655
CAN bus cable — 4.5 m 387 592
CAN bus cable — 5.5 m 388 521
CAN bus cable — 6.0 m 388 530
7 Bus terminal resistor (not shown) 387 606
8 Connecting cable — 12 pins, 1.5 m 1000 991
Connecting cable — 12 pins, 2.2 m 393 398
Connecting cable — 12 pins, 5 m 1000 975
Connecting cable — 12 pins, 10 m 1000 976
Connecting cable — 12 pins, 15 m 1000 977
Connecting cable — 12 pins, 20 m 1000 978
9 Mains cable —4.5m 1002 563

* Please indicate length

68 e Spare parts list

OptiStar 4.0 (CG20/-C)



Rev. 01 03/19 rGema

Connecting material

Fig. 25

OptiStar 4.0 (CG20/-C) Spare parts list e 69



	About these instructions
	General information
	Keeping the Manual
	Safety symbols (pictograms)
	Structure of Safety Notes

	Software version
	Presentation of the contents
	Figure references in the text


	Safety
	Basic safety instructions
	Product specific security regulations

	Product description
	Intended use
	A summary of the directives and standards
	European directives RL
	EN European standards
	Recognized safety-related regulations


	Reasonably foreseeable misuse
	Technical Data
	Versions
	Connectable guns
	Electrical data
	Pneumatic data
	Dimensions
	Powder output (reference values)
	General conditions for the OptiFlow Injector
	Guide values for OptiStar with OptiFlow Injector

	Air flow rates
	Environmental conditions
	Sound pressure level
	Rating plate

	Design and function
	Overall view
	Operating elements
	Displays
	Input keys and switches

	Connections
	Compressed air hoses / cables
	Pin assignment


	Scope of delivery
	Typical properties – Characteristics of the functions
	Operating modes
	Predefined operating mode (Preset mode)
	Adjustable operating mode (Program mode)
	Precise Control of spraying Current (PCC Mode)

	Communication with the Gema electrostatic app
	Rinsing mode
	Background illumination
	Brightness
	Auto Power Save mode

	Correction values


	Assembly / Connection
	Assembly guide
	Connection instructions

	Start-up
	Preparation for start-up
	Basic conditions

	System parameters
	Entering the system parameters
	System parameter P00 (device type)
	System parameter P03 (measuring unit)
	System parameter P10
	System parameter P11 (Bluetooth ID no.)


	Pairing of the Bluetooth module with a mobile device
	CAN bus
	General
	Hardware
	CAN bus cable – plug assignment

	Determining user address (Node-ID) and Baud rate
	Node ID – system parameter P06
	Baud rate – system parameter P05



	Operation
	Operation
	Select predefined operating mode (Preset mode)
	Starting the individual adjustable programs
	Setting powder output and powder cloud
	Setting the total air volume
	Setting the powder output

	Setting the electrode rinsing air

	Remote operation
	Local operation in remote operating mode
	Transfer to remote operating mode

	System release in network operation
	Correction values
	Entering the correction values
	Powder output/powder hose correction
	Powder output correction – procedure
	Powder hose correction – procedure
	Example table for powder offset and powder hose correction

	Correction factor – diagram
	Daily correction value C2

	Rinsing mode
	Activating the rinsing function

	Setting the background illumination
	Checking the software version
	Checking the trigger time
	RAM Reset

	Decommissioning / Storage
	Decommissioning
	If in disuse for several days

	Storage conditions
	Hazard notes
	Type of storage
	Storage duration
	Space requirements
	Physical requirements

	Maintenance during storage
	Maintenance schedule
	Maintenance works


	Maintenance / Repairs
	General information
	Periodic checks
	Repair work

	Fault clearance
	Error diagnosis of the software
	General information
	Help codes
	Help codes list
	Appearance of errors


	Disposal
	Introduction
	Requirements on personnel carrying out the work
	Disposal regulations
	Materials

	Disassembly of component groups

	Spare parts list
	Ordering spare parts
	OptiStar CG20(-C) gun control unit
	Front plate and power pack
	Inside back plate
	Inside back plate
	Connecting material
	Connecting material


